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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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AT 7597 :

(i) 39 J97-9F &1 Qi Y777, 3, &, @, ¢ 3N T H FieT 77 8 | 39l @4t 9rn &
o9l & I forad & |

(i) @Yt 397 I & |

(iii) W&, G, 7 3K T & Jo91 7 3R =97 397 T 8 |

(iv) 9T 37 & Jo7 G&IT 1 37K 2 UH-UF 37 & 97 & | 399 I U 3I&g 379a]
TH FIFH 78 |

(v) %a;mm3ﬁ5aﬁa%aﬁ%yw?’/ﬁ%3ﬁzwwmm

/

(vi) YT G F Jo7 G&IT 6 & 15 -7 37l & 97 & | §9% I YT 50 5]
yH H 37 &/

(vii) YT T & 397 Q&7 16 @ 21 Ti-979 371 & J97 & | 599 I T4 70 Vgt
IH 5378/

(viii) 9FT T & Y97 &7 22 & 27 JINTHE FIVT T TERT 31-51 37Hl & Jo7 & |
$7% G IR G & |

General Instructions :

(1) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.

(iti) Internal choice is given in Sections B, C, D and E.

(iv) Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

(viii) Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

T A

SECTION A
1. ot fagg v Y S8 = SO (3E) T8 B Swf SHE due Sted
3w (IEIed) B AT § 2 1
Why does the cord of an electric oven not glow while its heating element
does ?

2. UMY HIFAT IR YAy AU (FREE) & 9EeH ¥ 39 B 7, ot
BH 3 FETEAT I FUT T[T STERIH @ | ;i 2 1
Although coal and petroleum are produced by the degradation of biomass,
yet we need to conserve these resources. Why ?
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SECTION B
3. IO AYadd T 8 ? YU 3AYdd & ATUR IX SIEAT hl ST Eohd
aTelt g aiEreTet i TR SE1E | 2

What is atmospheric refraction ? List two phenomena which can be
explained on the basis of atmospheric refraction.

4.  9=m Gishaar S fhEl arg &1 am e | 39 91g #i 3He dehise Ik |
frsapfa s 1 fafa & & yg@ = fafee | 2

Name a metal of medium reactivity and write three main steps in the
extraction of this metal from its sulphide ore.

5. 3 Q TR TUIgH] i g S5 ek SR W TATa R UHish 3
& o= faved foram S gt 3 3R e fifviw T8 faves g g foman
EicI 2

HAYAT

T BISGIehTeHl H G hie THTSTI o o= E@ CIcE> gﬁ 2 a1 I8 Afiek
Hehad AMUTRATE gTd & | |ged 3R ITEq hied Afeh § § HA-H Ahh
ﬁwmﬁ@ﬁ%?Q%Bﬂiﬁaﬁ?%aﬁﬁﬁﬂﬁ%quﬁw
fafau | 2

List two chemical properties on the basis of which ethanol and ethanoic
acid may be differentiated and explain how.

OR

Unsaturated hydrocarbons contain multiple bonds between two carbon
atoms and these compounds show addition reactions. Out of saturated
and unsaturated carbon compounds, which compounds are more
reactive ? Write a test to distinguish ethane from ethene.

q e
SECTION C
6. I BT g T I3 Yo Th™ 4 el FiE o 50 & FroRL afad ‘@?ﬂ%‘?
fem @ omadt & wwarq fohe ool W fomer sifeha grar B ST fehr
W?wﬁméaﬁ%@&ai gaen 50 & g8a 50 o |ue 3ol

fegfa @ war S 2 319 3w A gfee FhifT | 3
AT
?ﬁﬁaﬁ%maﬁaﬁg&%wm%m 0-5 D &l & =T <h! ATaRThl
| 3

(i) 39 gfse g 1 9 fafae S =g e difsa 7 |
(i) HNEH 8 I TP IR BIHT 0 A1 hHIT |
(iii) 39 GG % &I RO shi T TR |

317213 i A P.T.0.



https://byjus.com/?utm_source=pdf-click

(G EACEH

What happens to a beam of white light when it gets refracted through a
glass prism ? Which colour deviates the most and the least after
refraction through a prism ? What is likely to happen if a second identical
prism is placed in an inverted position with respect to the first prism ?
Justify your answer.

OR
A student needs spectacles of power — 0-5 D for the correction of his
vision.
) Name the defect in vision the student is suffering from.

(i)  Find the nature and focal length of the corrective lens.
(iii)  List two causes of this defect.

7.  IER H@Al H R fARIT | 9RO W) oaTel €eld SRR qEd 6
M1 I | I1C 38 4@l H i3 Tg¥h IcdTeeh &R W Ja9 L A1, dl
fopg Il =X % STl o IR H 39 UgWeh hi IAlehRaH Higdl 913 S ? 36
GREIET i 91 hEd & ? 3

Define a food chain. Design a terrestrial food chain of four trophic levels.
If a pollutant enters at the producer level, the organisms of which trophic
level will have the maximum concentration of the pollutant in their
bodies ? What is this phenomenon called ?

8. TR U I Bid g ? UR U hl TEAT <hl =aredT hifSU | R 9t § Heg af
@ ATHI ! A TR | 3

What are solar cells ? Explain the structure of solar panel. List two
principal advantages associated with solar cells.

9. I 9igl Hl d] TRESIFAINGh At & a1 AARAT % THy fopeft B 4 A=
mmﬁmm: 3
(a) Toeer # 18 gftedw fewrs =& <an |
(b) S i 3@ A ¥ ffran wuA T fopet A o geige fomms 24 # |
(c) Gifeam &t rffshan rcaferes foemics U8 T |
(d) o ¥ UgWiem g W stfufshan fsor o q ¥ gig & 7 |
3 JeIUTt <hl suredn 3fed RuT et HIfT |

During the reaction of some metals with dilute hydrochloric acid, the
following observations were made by a student :

(a)  Silver does not show any change.

(b)  Some bubbles of a gas are seen when lead is reacted with the acid.
(c) The reaction of sodium is found to be highly explosive.

(d)  The temperature of the reaction mixture rises when aluminium is
added to the acid.

Explain these observations giving appropriate reason.
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10. MW < ITEH T HIR Bl Fniia w0 6 rfafy & $ = = fu 7
2 | T TR H B drelt 1fTshansT o TEmfes TR SIS | 3
i) W (1) HHIES I Tl
(i) IR (I) GeHES A HIR (1) ATFATEES T A=A
(iii) ~ Torgq-sTaere aftshtor
Given below are the steps for the extraction of copper from its ore. Write
the chemical equation of the reactions involved in each case.

) Roasting of copper (I) sulphide

(i1)  Reduction of copper (I) oxide from copper (I) sulphide

(iii)  Electrolytic refining

11. (a) frE o7 1 dIHd S 999 Ig I HT hl A 7 foh 3

S ° e =nfae 7 6 S i o | 2

(b) 6 TESINH FANES T I fofeq® o & T H &g giEdd el
HEA | T ? 3

AYAT

TN T Aifsam g3giaanss bl Yo SR a1 8 2 39 Jfshan o1 AW faRaw |

39 Ufsha H IUIcATg o €9 H I M9 X S 7 | I8 T8 94 & a1 & 1w

ek IS iR Y 91 8, Foreent 3w WrE S § foied i o ®9 H

fom ST 8 1 X SR Y I ugEiiHT qon g areft SAfufseansn % qamfe

gt feafan | 3
(a)  While diluting an acid, why is it recommended that the acid should
be added to water and not water to the acid ?

(b)  Dry hydrogen chloride gas does not change the colour of dry litmus
paper. Why ?

OR
How is sodium hydroxide manufactured in industries ? Name the process.
In this process a gas X is formed as by-product. This gas reacts with lime
water to give a compound Y, which is used as a bleaching agent in the
chemical industry. Identify X and Y and write the chemical equation of
the reactions involved.

12. e Afenl A GG Joft =T BT B 2 Teh I ST qAT 39k ol
rfereon <t R S8 | 3

What is a homologous series of carbon compounds ? Give an example and
list its three characteristics.

13. IraIcHSH foh8 Ed 8 ? 38 o HE faRay | 3
e
(a) TIMTFA ford shgd & 2 ITedl o Tt I8 o= 3Tawae & ?
(b) TR o HEed®d UIGdl H 9eref gl dgad & ? 3
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What is transpiration ? List its two functions.

OR
(a)  What is translocation ? Why is it essential for plants ?
(b)  Where do the substances in plants reach as a result of translocation ?

14. difdsel & &9 H AW Qo R fowraeft qiwor & g a9 et
rfiyereqon Y FE TS | 3

List in tabular form three distinguishing features between autotrophic
nutrition and heterotrophic nutrition.

15. (a) HHod, @Ued adl JTegyad gt SH i ofcifies oo wrft St € |
=i ?
(b)  TIARFT B YAEQUaA hl UfhAT hI TSN T@es AW I TgECl o
IS | 3

(a) Budding, fragmentation and regeneration, all are considered as
asexual mode of reproduction. Why ?

(b)  With the help of neat diagrams, explain the process of regeneration
in Planaria.

" g
SECTION D
16. i 6 cm AT foF e 30 cm BIFE G0 % ITEAA U o G F& h AR
ferd 2 | quur | for H gl 45 cm 2 | UUT g 1 SN Hh a4 AT
gfafers s feufa, whfa o dew Fgifa Hive | 59 s § gfafars a3
T o fow AmifeRa fortor o off Eiifem | 5

AT

6 cm HISH 1 HIg (o7 30 cm HIhE gU % fHHT ITA @H % A 50 cm 3h
@ 2 | 39 fom o e wfdfers It e % foe w8 @l e 8 foeat
W W@ I =1 ? gfafers i Thfa R AEe §1d FINT | 38 gm0 |
gfferes 1 g1 o foiw AmifeRa foptor s ot Efifaw | 5
A 6 cm tall object is placed perpendicular to the principal axis of a
concave mirror of focal length 30 cm. The distance of the object from the
mirror is 45 cm. Use mirror formula to determine the position, nature

and size of the image formed. Also draw labelled ray diagram to show the
image formation in this case.

OR

An object 6 cm in size is placed at 50 cm in front of a convex lens of focal
length 30 cm. At what distance from the lens should a screen be placed in
order to obtain a sharp image of the object ? Find the nature and size of
the image. Also draw labelled ray diagram to show the image formation
in this case.

312 S



https://byjus.com/?utm_source=pdf-click

(G EACEH

17. Toet &faa wrdae ¥ Traaq Tod fhel @Y grramel =meieh o R 3cdd
Jraehid & @rsti @ Ued Eifuw | gfavas o fem faRew oft suem
SFTIERT & W@ A fun ifhd e § Aifw | 38 HY e § @ I H W
foreht fomg W, &t grehr & freife foren S 8, greshr & i ferar o
frE TR 9ftadH BT B ? 379 TR i gfse o forw svrw @R | 5

Draw the pattern of magnetic field lines produced around a current
carrying straight conductor passing perpendicularly through a horizontal
cardboard. State and apply right-hand thumb rule to mark the direction
of the field lines. How will the strength of the magnetic field change when
the point where magnetic field is to be determined is moved away from
the straight conductor ? Give reason to justify your answer.

18. (a) Tordlt T <h Hgrar ¥ 319 I8 fsed forg Y femren fop forelt Qb
ﬁéﬂﬁ%ﬁiﬁﬁ%@ﬁﬂ?ﬁﬁuﬁﬁuﬁ%qﬁw%mmﬁwm
qaTiEd ?

() = feu 7u gfmy w oA fifw it iy % 5= B9 i feufy d
gy ¥ garfad 9 3R 15 Q & iy & i | fAverm s e |1 5

= L
I
—~
pg

T
(a) o gfEs Ry, Ry 3 Rg URdshy U Gaifod & aon 98 TeH foreht
S, oriet, diceHiet AR FHofl ¥ TANE & | ST qHUY G
Eifew 3T gfcrigent o ASH o qed Jfalg & ol Seeh JTed it |

(b) = feu T Feaeh w1 g vhtiy ufiesfera i - 5
20 Q
10 Q WY
A —AMN— B
VAN
20 Q

(a) How will you infer with the help of an experiment that the same
current flows through every part of a circuit containing three
resistors in series connected to a battery ?
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(b)  Consider the given circuit and find the current flowing in the
circuit and potential difference across the 15 Q resistor when the
circuit is closed.

5Q 10 Q 15 Q
VWW VWWY VWAV

N ey
T
T

OR

(a)  Three resistors R;, Ro and Rg are connected in parallel and the
combination is connected to a battery, ammeter, voltmeter and
key. Draw suitable circuit diagram and obtain an expression for
the equivalent resistance of the combination of the resistors.

(b)  Calculate the equivalent resistance of the following network :

20 Q
10 Q VWY

A —AW— B
AW
20 Q

19. (a) HSE® % MEd W HI FH o art fohegl @4 Sgaort <l g ST |
(b) 3Tyl 3Ted Al H,
()  Toreft otred ® o ¥ T¢ 9H W,
(i)  Torelt TE (FU) # FIW & =& IH
el % difcass @& 3§ forg Yepr o= giar 2 2
39 I o T Srwr A | 5
Jrra
IR awEl A, B, C 3R D o WA § Seiaeial ol fiF hisl § foaior 39 YR 7
foh 3 Il % STEIAH SIS § Solareiql ohi TEIT SHUST: 1,3, 5 3R 78 | 3MYfh
e FROf ¥ $9 awal hl g (9) TN faRaw | B 3R D SIS W
Tl fa=ma qen B 3R D o G & o4 Aifiek o1 o11fvess g fafaw | 5

(a) List any three observations which posed a challenge to
Mendeleev’s Periodic Law.

(b)  How does the metallic character of elements vary on moving from
1) left to right in a period,
(i1)  from top to bottom in a group
of the Modern Periodic Table ?
Give reason for your answer.

OR
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The electrons in the atoms of four elements A, B, C and D are distributed
in three shells having 1, 3, 5 and 7 electrons respectively in their
outermost shells. Write the group numbers in which these elements are
placed in the Modern Periodic Table. Write the electronic configuration of
the atoms of B and D and the molecular formula of the compound formed
when B and D combine.

20. <Afifeh S AT 7 ? AT KT fob o7cifires S 1 ga § S <t 39 faen
i form g 31ftrer Sfemerm fafimamd scoe gt @ | 38 foeer &1 forg wohl
JuTferd hidl 8 2 5

What is sexual reproduction ? Explain how this mode of reproduction
gives rise to more viable variations than asexual reproduction. How does
this affect the evolution ?
21. (a) STEIEINYFd TH 1 SUAN i h TAE F1 & It 8 ? TAR WSH ¥
STRIIE <h! SHHT o HRU BIH aTel U T A0 I IHHT Teh A0 [IRIT |

(b) BHR IR § dfehT 1A fohd TehR TTHA i & 2 STE hiforg | 5
T

Saadd fh8 wEd 8 ? 39 uftgedt wi fehfa &0 & fau feelt w6

JeheqAT ST | 5

(a)  Why is the use of iodised salt advisable ? Name the disease caused
due to deficiency of iodine in our diet and state its one symptom.
(b)  How do nerve impulses travel in the body ? Explain.

What is hydrotropism ? Design Oafri experiment to demonstrate this
phenomenon.
IR
SECTION E
22, Torelt oftuy 4 g ufiiges & varfza g iR 3uh Rl W fawarw om@ d
ueT: fircfienfier iR Sieerier R guITY Y qTe=ieht & STHER § 2

(a) 9 HITU o TcqdHIh =1 8 ?
(b) U 1 gfaUy feraar 8 2
200 2

100 300 X/;&H¥AH*H+H+HﬁH£i\\
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23.

The current flowing through a resistor connected in a circuit and the
potential difference developed across its ends are as shown in the
diagram by milliammeter and voltmeter readings respectively :

(a)  What are the least counts of these meters ?

(b)  What is the resistance of the resistor ?

200 2

100 300 M

mA Vv

a6l TIATHR Ifgeht (TAe) o fohet Teh Hefeh W HT 45° o I G YA
T el IH TR 1 99 SRRad HINT | 39 M@ W (1) AU hivT,
(ii) farta =IO 3T (iii) uTfedes fazemum sifera Hifsme |
rqan

HE B ARG H T ATAR foheft hiw o ST & o areft Fehrer fohtor
T MG T B, W 39 ARG 1 YT SIS odl & N 38 THifeha ot T
HA | 39 ARG I GEN Gidept U T qAT 38 T /4, Le, Lr AR /D
JAfehd SHIfTT |

Draw the path of a ray of light when it enters one of the faces of a glass
slab at an angle of nearly 45°. Label on it (i) angle of refraction, (ii) angle
of emergence and (iii) lateral displacement.

OR
A student traces the path of a ray of light through a glass prism as shown
in the diagram, but leaves it incomplete and unlabelled. Redraw and
complete the diagram. Also label on it /i, Ze, Zr and ZD.
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24, Tt Tt § 2 mL UHifch 3T TRt 39U Teh Tcohl HISIH BIZGINH
HeHe A W = Yo fhu Sd @ 2 39 YRl H B dret Tfufshar
TS T fafey | 2

What is observed when a pinch of sodium hydrogen carbonate is added to
2 mL of acetic acid taken in a test tube ? Write chemical equation for the
reaction involved in this case.

25.  fopelt foersh 3 foremrcry <61 srmmerer & oni b Ui v, S, fiq # @,
qifeay FESIeM FEie 3R Aifeam gTESiFaTss & Tefi foerm ﬁ:q IR pH T
mﬁwﬁ%pHmmﬁ%%ﬁw|%@rmﬁsﬁwsﬁ%pHm
A 3, 12, 4, 8 3 14 Tefd | $1H | HH-H1 I T8l 481 2 ? HRU <d §Y
Waﬁm%f\@nl 2

areraT
=R Sfiehll § AT Hethe s are 1 foer w8 3R s shaw: Tyfutm,
HIR, ARAA 3R Fop i ehivifld = 6 T ufeaf @ . & | o
Soﬁqzé;trﬁr@aﬁémmﬁwﬁw%@m? 2

A teacher provided acetic acid, water, lemon juice, aqueous solution of
sodium hydrogen carbonate and sodium hydroxide to students in the
school laboratory to determine the pH values of these substances using
pH papers. One of the students reported the pH values of the given
substances as 3, 12, 4, 8 and 14 respectively. Which one of these values is
not correct ? Write its correct value stating the reason.

OR

What would a student report nearly after 30 minutes of placing duly
cleaned strips of aluminium, copper, iron and zinc in freshly prepared
iron sulphate solution taken in four beakers ?

26. 3794 feme™ 6 TR § Wi o YT R o oAU foREt et % T &l
LRl AU AR Hd gad forel B9 g Stdl S a1t 9| araent

el §A 15T | 2
List four precautions which a student should observe while preparing a
temporary mount of a leaf peel to show stomata in his school laboratory.
27. TgESIwEll S 1 APHRA it o IR TN hl HAAR FHI FA6Y | 2
AT
T YEASI hl I o | Tohell TR TATSS T TV A o IATq Tt
B+ Iz T frepren o6 & 18 Tose © TRt weenIfTes Sfa # fg-w@ued &
fafte =01 QoMU T & | 39 @ YU ! foiRgu oMk STgR W Ul fshs
frepTett ST Weha 7 | 2
List in proper sequence four steps of obtaining germinating dicot seeds.
OR

After examining a prepared slide under the high power of a compound
microscope, a student concludes that the given slide shows the various
stages of binary fission in a unicellular organism. Write two observations
on the basis of which such a conclusion may be drawn.
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